

DÜ

$$a^2 \cdot (x+1) - 2 \cdot (ax+2) = 0 \quad a \in \mathbb{R} - \text{parameter}$$

①  $a^2 x + a^2 - 2ax - 4 = 0$

$$a^2 x - 2ax + a^2 - 4 = 0 \Rightarrow \text{LINEAR!}$$

$$x \cdot (a^2 - 2a) = 4 - a^2$$

$$a \cdot (a-2)$$

$a=0$

$$0 - 4 = 0$$

$$-4 = 0$$

$$K = \{ \}$$

$a=2$

$$4(x+1) - 2(2x+2) = 0$$

$$4x+4 - 4x-4 = 0$$

$$0 = 0$$

$$K = \mathbb{R}$$

$a \neq 0, a \neq 2$

$$x = \frac{4-a^2}{a(a-2)} = \frac{(2-a)(2+a)}{a(a-2)} = \frac{-a-2}{a}$$

Zusatz:

$a=0 \dots K = \{ \}$

$a=2 \dots K = \mathbb{R}$

$a \in \mathbb{R} - \{0, 2\} \dots K = \left\{ \frac{-a-2}{a} \right\}$

②  $x^2 - kx + 1 - 2k^2 = 0 \quad k \in \mathbb{R} - \text{parameter}$

$$D = (-k)^2 - 4 \cdot 1 \cdot (1 - 2k^2) = k^2 - 4 + 8k^2 = 9k^2 - 4$$

$D=0$

$$9k^2 - 4 = 0$$

$$(3k-2)(3k+2) = 0$$

$$k_1 = \frac{2}{3} \dots x_{1/2} = \frac{k}{2} = \frac{\frac{2}{3}}{2} = \frac{1}{3}$$

$$k_2 = -\frac{2}{3} \dots x_{1/2} = \frac{k}{2} = \frac{-\frac{2}{3}}{2} = -\frac{1}{3}$$

$D > 0$

$$9k^2 - 4 > 0$$

$$(3k-2)(3k+2) > 0$$



$$k \in (-\infty, -\frac{2}{3}) \cup (\frac{2}{3}, \infty)$$

$$x_{1/2} = \frac{k \pm \sqrt{9k^2 - 4}}{2}$$

$D < 0$

$$9k^2 - 4 < 0$$

$$k \in (-\frac{2}{3}, \frac{2}{3})$$

$$x_{1/2} \in \{ \}$$

Zusatz:  $k = \frac{2}{3} \dots K = \left\{ \frac{1}{3} \right\}$

$k = -\frac{2}{3} \dots K = \left\{ -\frac{1}{3} \right\}$

$k \in (-\infty, -\frac{2}{3}) \cup (\frac{2}{3}, \infty) \dots K = \left\{ \frac{k \pm \sqrt{9k^2 - 4}}{2} \right\}$

$k \in (-\frac{2}{3}, \frac{2}{3}) \dots K = \{ \}$

3.  $\frac{m}{x} - \frac{4}{mx} = 1 - \frac{2}{m}$   $m \in \mathbb{R}$  - parameter

$m=0 \dots$  ROVNICE NEMA' SMYSL

$m \neq 0$ : podmínka  $x \neq 0$   
 rovnice násobíme  $mx$

$$m^2 - 4 = mx - 2x$$

$$x(m-2) = m^2 - 4$$

$m=2$

$m \neq 2$ :

$$\frac{2}{x} - \frac{4}{2x} = 1 - \frac{2}{2}$$

$$x = \frac{m^2 - 4}{m - 2} = m + 2$$

$$\frac{2}{x} - \frac{2}{x} = 0 \quad x \neq 0$$

$$0 = 0 \quad \checkmark$$

$$K = \mathbb{R} - \{0\}$$

KONTROLA PODMÍNKY:  $m + 2 = 0$

$$m = -2$$

PRO TOTO  $m$  NE  
 PODMÍNKU PORUŠENÁ  
 $\Rightarrow K = \{ \}$

Závěr:  $m=0 \dots$  rovnice nemá smysl  
 $m=2 \dots K = \mathbb{R} - \{0\}$   
 $m=-2 \dots K = \{ \}$   
 $m \in \mathbb{R} - \{0, 2, -2\} \dots K = \{m+2\}$

4.  $2mx^2 + mx + 1 = 0$

$m=0$

$1=0$

$K = \{ \}$

$m \neq 0$

$$D = m^2 - 4 \cdot 2m \cdot 1 = m^2 - 8m$$

$D=0$

$$m^2 - 8m = 0$$

$$m(m-8) = 0$$

$m_1 = 0 \dots$  nulová  $\checkmark$

$m_2 = 8 \dots x_{1,2} = \frac{-m}{4m} = -\frac{1}{4}$

$D > 0$

$$m^2 - 8m > 0$$

$$m(m-8) > 0$$



$m \in (-\infty, 0) \cup (8, \infty)$

$$x_{1,2} = \frac{-m \pm \sqrt{m^2 - 8m}}{4m}$$

$D < 0$

$m \in (0, 8)$

$K = \{ \}$

Závěr:

$m \in (0, 8) \dots K = \{ \}$

$m = 8 \dots K = \{ -\frac{1}{4} \}$

$m \in (-\infty, 0) \cup (8, \infty) \dots$

$\dots K = \left\{ \frac{-m \pm \sqrt{m^2 - 8m}}{4m} \right\}$

DÜ

5.)  $3x + ay = 1$   
 $x + 2y = 3$

$x = 3 - 2y$

$3(3 - 2y) + ay = 1$

$9 - 6y + ay = 1$

$ay - 6y = -8$

$y(a - 6) = -8$

$a = 6$

$3x + 6y = 1$   
 $x + 2y = 3 \quad | \cdot 3$   


---

 $0 = -8$

$K = \{ \}$

$a \neq 6$   
 $y = \frac{-8}{a-6}$

$x = 3 - 2 \cdot \frac{-8}{a-6} = 3 + \frac{16}{a-6} = \frac{3a - 18 + 16}{a-6} = \frac{3a - 2}{a-6}$

$K = \left\{ \left[ \frac{3a-2}{a-6} ; \frac{-8}{a-6} \right] \right\}$

Zusatz:  $a = 6 \dots K = \{ \}$   
 $a \in \mathbb{R} - \{6\} \dots K = \left\{ \left[ \frac{3a-2}{a-6} ; \frac{-8}{a-6} \right] \right\}$

6.)  $n \cdot (n-1) x < 1$   $n$ -parameter

$n = 0$

$0 < 1$

$x \in \mathbb{R}$

$n = 1$

$0 < 1$

$x \in \mathbb{R}$

$n \cdot (n-1) > 0$



$n \in (-\infty, 0) \cup (1, \infty)$

$x < \frac{1}{n(n-1)}$

$x \in (-\infty, \frac{1}{n(n-1)})$

$n \cdot (n-1) < 0$



$n \in (0, 1)$

$x > \frac{1}{n(n-1)}$

$x \in (\frac{1}{n(n-1)} ; \infty)$

Zusatz:  $n \in \{0, 1\} \dots K = \mathbb{R}$   
 $n \in (-\infty, 0) \cup (1, \infty) \dots K = (-\infty, \frac{1}{n(n-1)})$   
 $n \in (0, 1) \dots K = (\frac{1}{n(n-1)} ; \infty)$